


*

*

1:50 11/12 ME

w
w

w
.k

ai
se

r-
ku

eh
ne

-p
la

y.
co

m
   

Te
l. 

+
49

42
54

 - 
93

15
0 

K
ai

se
r 

&
 K

üh
ne

 F
re

iz
ei

tg
er

ät
e 

  D
-2

73
24

 E
ys

tr
up

C

Scale Date

K
 &

 K
 In

st
al

la
tio

n 
20

12

Page

0-62155-700
Item-No. Description

K&K Meeting arbour 2/2



Item:

Location:

Order:

Building Project:

062155700
K&K Meeting arbour

List of screw connections

1299014

Page 1 / 2

Standard bolting for parapet, handrail,22 x SFRS1210001
slide etc. at Robinia posts

per SC Total K&K-Item Marking

colour red/RAL 2002 PA6
Screw cap - lower part, domed M121 x 22 x 3300054

.

colour red/RAL 2002 PA6
Screw cap - upper part M12 P21 x 22 x 3300055

.

Washer Ø 13  DIN125  A21 x 22 x 3430025
.

with screw security coating FGB red
Hexagon head cap screw  M12 x 160 DIN931 A21 x 22 x 3400702

.

Half tent roof 3 x 0.8 m1 x SFAS1240011
HPL-plates at stay tubes and lantern tower onto HPL-plates

per SC Total K&K-Item Marking

Hexagon cap nut  M10 DIN986  A218 x 18 x 3430011
.

Dome head security screw  M8 x 20 Resistorx A21 x 1 x 3400673
.

Washer Ø 10,5 DIN 125 B A218 x 18 x 3430014
.

Washer Ø 8.4 DIN9021 A21 x 1 x 3430102
.

Dome 1/2 tent roof 6 x 45° HPL1 x 1 x 6240030
.

mushroom head screw square neck M10x30 DIN 6018 x 18 x 3400138
.

Reinforcing steel for tubular pedestals4 x SFES1270007

per SC Total K&K-Item Marking

Reinforcing steel Ø 10 x 310 DIN 4881 x 4 x 2130000
.

Security TORX wrench TR401 x SFWZ0000001

per SC Total K&K-Item Marking

Security TORX wrench TR401 x 1 x 3490081
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

062155700
K&K Meeting arbour

List of screw connections

1299014

Page 2 / 2

Lubricating metal, twin bag (2 x 4 g)1 x SFWZ0000013

per SC Total K&K-Item Marking

Metaflux fitting lubricant 2x4 g2 x 2 x 5300024
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


